



Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering
Winter 2025 Regular Exam Semester-I Result



Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

Print On Date: 30/Jan/2026 10:19 AM

Sr No	Enrollment No	Student Name	3			3			1			2			1			1			2			1			2			1			4			Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result				
			Physics - Quantum Mechanics[BTAS21107]			Basic Electrical Engineering[BTCL22101]			Basic Electrical Engineering Lab[BTCL22102]			Python Programming[BTCL22101]			Python Programming Lab[BTCL22102]			Engineering Graphics and Design[BTME22101]			Engineering Graphics and Design Lab[BTME22102]			Electrical and Electronics Workshop[BTGN22102]			Energy & Environmental Engineering[BTCH22101]			Energy & Environmental Engineering Lab[BTCH22102]			Mathematics-I[BTAS21105]												
			CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade										
1	ET25BTCO001	AARYA SNEHAL DESAI	A	A+	A+	B	C	B	O	A+	O	A+	O	O	O	A	O	A+	O	A+	O	A+	A	A+	A	A	A	A+	O	O	B	B+	B+	177	21	8.43	21	0	Pass						
2	ET25BTCO002	ANGHAN KAVYA AMITBHAI	A	B+	A	A	C	B+	A+	A	A+	B+	A	A	O	O	O	A+	A+	A+	O	A+	O	A+	A	A+	A	A	A	B+	B+	B+	172	21	8.19	21	0	Pass							
3	ET25BTCO003	ANGHAN TRUSHA DINESHBHAI	B+	B	B+	A+	P	B+	O	B+	A+	B	B+	B+	A+	A	A+	O	O	O	A+	B	A	B	B+	B+	B+	B+	A	A	B	B+	B+	161	21	7.67	21	0	Pass						
4	ET25BTCO004	ARYA MAYURBHAI KATHIRIYA	B	B+	B+	B	P*	C	A+	B+	A	C	C	C	O	A	A+	A	O	A+	A+	B	A	A	B	B+	B	B+	B+	A	B+	A	B+	B+	B+	145	21	6.90	21	0	Pass				
5	ET25BTCO005	BALAR DHARM HIMMATBHAI	B+	B	B+	A	C	B+	O	A	A+	A+	A+	A+	A	O	A+	A	O	A+	O	A+	O	A	B+	A	B+	B	B+	A	A+	A+	A	B	B+	166	21	7.90	21	0	Pass				
6	ET25BTCO006	BHALALA NAITRI GHANSHYAMBHAI	B	A+	A	A	B+	A	O	A	A+	O	A	A+	A+	A+	A+	O	O	O	O	A+	O	A+	A+	A	A+	A+	A	O	A+	A+	A	A	A+	186	21	8.86	21	0	Pass				
7	ET25BTCO007	BHERWANI CHAITAJI JEETENDRABHAI	A	A	A	A+	C	B+	O	A+	O	O	O	O	A+	A+	A+	O	A+	O	O	A+	O	A	A	A	A	A	A	A	A	A	A	A+	O	O	A	A+	A+	184	21	8.76	21	0	Pass
8	ET25BTCO008	CHAMPANERIA MEET DHAVALKUMAR	B+	C	B	B+	P**	B	A+	B+	A	B+	B+	B+	O	A+	O	B	B	B	A	C	B+	A+	B	A	A	B+	A	B+	B+	B+	B+	A	A	151	21	7.19	21	0	Pass				
9	ET25BTCO009	DESAI DEVARTH HEMALKUMAR	C	F	F	P	F	F	O	B	A	P	F	F	A	A	A	C	C	C	A+	C	B+	A	C	B+	C	C	C	A	C	B+	P	F	F	59	21	2.81	9	4	Fail				
10	ET25BTCO010	DHANANI REEYA MAHENDRABHAI	A	P*	B	B+	P*	B	O	B+	A+	A	A	A	A+	B+	A	A+	O	O	O	A+	O	A	B	B+	B	C	B	A	A+	A+	A	B+	A	159	21	7.57	21	0	Pass				
11	ET25BTCO011	GAMI RADHIKA DALSUKBHAI	A+	B	A	A	P**	B	A+	B	A	O	P	B+	O	A+	O	A+	A+	A+	O	A	A+	A	B+	A	C	B	B	A	A	A	A	B+	A	161	21	7.67	21	0	Pass				
12	ET25BTCO012	GANDHI SAKSHAM SANDEEP	A+	A	A+	A+	A	A+	O	A	A+	A	A+	A+	O	O	O	B+	O	A+	O	A	A+	A	A	A	A+	A	A+	A+	O	O	A	A	A	186	21	8.86	21	0	Pass				
13	ET25BTCO013	GHEVARIYA RUDRA VIPULBHAI	A	B+	A	A	B	B+	O	A	A+	B+	A	A	A+	A	A+	A	B+	A	O	A+	O	A+	B	A	A	B	B+	B+	A+	A	B+	C	B	161	21	7.67	21	0	Pass				
14	ET25BTCO014	GHOGHARI VAIDEHI BIPINBHAI	B	B+	B+	C	P**	C	A+	A	A+	P	B	C	B+	A	A	B	A+	A	O	A+	O	A+	B	A	C	C	C	B	O	A	C	P*	C	137	21	6.52	21	0	Pass				
15	ET25BTCO015	GODHANI HIRVA DILIPBHAI	B	B	B	B+	P*	B	A+	B+	A	A	C	B+	O	A	A+	A	O	A+	O	A+	O	A	B	B+	B	C	B	A	A	A	C	B	B	147	21	7.00	21	0	Pass				
16	ET25BTCO016	GOHIL RAJVI	B+	B+	B+	B	F	F	O	A+	O	B	C	B	A	A	A	A+	A+	A+	O	A	A+	A+	B	A	B+	B+	B+	A+	A+	A+	A+	B+	A	141	21	6.71	18	1	Fail				
17	ET25BTCO017	HET ASHISHKUMAR PATEL	B	C	B	C	F	F	O	P	B+	P	C	C	O	A	A+	B	B	B	O	C	A	A	C	B+	B	B	B	A	A+	A+	P	F	F	94	21	4.48	14	2	Fail				
18	ET25BTCO018	HET PATEL	B+	B+	B+	A+	B+	A	O	A+	O	A+	A+	A+	O	O	O	A+	O	O	O	O	O	A	B+	A	B+	A	A	A+	A+	A+	B+	C	B	170	21	8.10	21	0	Pass				
19	ET25BTCO019	HETAVI RAJESHKUMAR KORAT	B+	B+	B+	A	B	B+	A+	A+	A+	A+	A+	A+	A+	O	O	A+	O	O	A+	A	A+	A	B+	A	A	B	B+	A+	A	A+	A	B+	A	170	21	8.10	21	0	Pass				
20	ET25BTCO020	JASHN HEMAL JOSHI	A+	B	A	B	P**	C	O	B	A	B	B+	B+	O	A+	O	A	A+	A+	B	P	C	A	C	B+	A	B	B+	A	A+	A+	B	C	B	144	21	6.86	21	0	Pass				
21	ET25BTCO022	JIYA THAKOR	B	P	C	B	F	F	A+	A	A+	B+	B	B+	O	O	O	A	B+	A	A+	B	A	A	B+	A	B	B+	B+	A	A+	A+	P	F	F	103	21	4.90	14	2	Fail				
22	ET25BTCO023	JOSHI KARAN MUKESHBHAI	A+	A+	A+	O	B+	A+	O	A	A+	O	O	O	O	O	O	O	O	O	O	O	O	A	C	B+	A+	A	A+	A+	A+	A+	A+	A+	A+	A+	193	21	9.19	21	0	Pass			
23	ET25BTCO024	KANIA VIDHI LATESHKUMAR	B	C	B	B	F	F	O	B+	A+	C	F	F	O	A+	O	B	B+	B+	O	B	A	A+	C	B+	C	P*	C	A	A+	A+	P	F	F	86	21	4.10	12	3	Fail				
24	ET25BTCO025	KAPADIA OM HARISH	A	B+	A	A	B+	A	O	A+	O	A+	O	O	O	O	O	A+	A+	A+	O	O	O	A	A	A	B+	B	B+	A	A	A	A+	A	A+	183	21	8.71	21	0	Pass				
25	ET25BTCO026	KATHIRIYA HETVI VINODKUMAR	A	B	B+	A	P**	B	O	A	A+	A	A	A	A	A+	A+	A+	A	O	O	O	A+	O	A	A+	A+	B	P*	C	A	A+	A+	B+	B+	B+	159	21	7.57	21	0	Pass			

Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

for

[Signature]

[Signature]

[Signature]





Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering
Winter 2025 Regular Exam Semester-I Result



Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

Print On Date: 30/Jan/2026 10:19 AM

Sr No	Enrollment No	Student Name	3			3			1			2			1			1			2			1			2			1			4			Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result	
			Physics - Quantum Mechanics[BTAS21107]			Basic Electrical Engineering[BTEL22101]			Basic Electrical Engineering Lab[BTEL22102]			Python Programming[BTCT022101]			Python Programming Lab[BTCT022102]			Engineering Graphics and Design [BTME22101]			Engineering Graphics and Design Lab[BTME22102]			Electrical and Electronics Workshop[BTGN22102]			Energy & Environmental Engineering[BTCH22101]			Energy & Environmental Engineering Lab[BTCH22102]			Mathematics-I[BTAS21105]									
			CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade							
26	ET25BTC0027	KEVADIYA ASTHA MAHESHBHAI	B+	B+	B+	O	C	A	A+	B+	A	A+	A	A+	A	O	O	O	O	A+	O	A+	B+	A	B	B	B	A+	A	A+	B	B+	B+	167	21	7.95	21	0	Pass			
27	ET25BTC0028	KRISHA MAHESH PRAJAPATI	A	A	A	B	B	B	A+	B+	A	B+	B+	B+	O	A	A+	O	O	O	O	B+	A+	A	A	A	A	A	B+	A+	A	B+	B	B+	161	21	7.67	21	0	Pass		
28	ET25BTC0029	KRISHIL MAHESH PRAJAPATI	B	B+	B+	B+	P	B	A+	A+	A+	B+	B+	B+	O	A+	O	A+	O	O	A+	O	A	B+	A	B	B	B	A+	A+	A+	A	A+	A+	167	21	7.95	21	0	Pass		
29	ET25BTC0030	KUVADIYA TANVI HIRENBHAI	C	P*	C	P	F	F	A	P	B	P	P*	P	B+	A	A	B+	B+	B+	O	B+	A+	A	C	B+	P	P*	P	B	A	B+	C	F	F	84	21	4.00	14	2	Fail	
30	ET25BTC0031	MAJITHIA VAIDEHI KETANKUMAR	A	NA	F	B+	NA	F	O	B+	A+	B	B+	B+	O	A+	O	O	NA	F	A+	C	B+	A	A	A	A	NA	F	A+	A	A+	B+	NA	F	64	21	3.05	8	5	Fail	
31	ET25BTC0032	MANTHAN JAYESHKUMAR PATEL	A	A	A	B+	B+	B+	A+	A	A+	A	O	A+	A+	A+	O	O	O	O	A+	O	A	B	B+	A	B+	A	A+	A+	A+	A	A	A	175	21	8.33	21	0	Pass		
32	ET25BTC0033	MOKSH VANANI	A	B+	A	A+	B	A	B	A	B+	A+	A+	A+	O	O	O	A	A+	A+	A+	B+	A	A+	B	A	B+	B+	B+	B+	C	B	A	B+	A	168	21	8.00	21	0	Pass	
33	ET25BTC0034	NAIK AAYUSHI ANKURBHAI	B	F	F	B	C	B	A+	A	A+	B+	A	A	O	O	O	A	A+	A+	A	B+	A	A	B+	A	B+	B	B+	A	B+	A	C	B	B	132	21	6.29	18	1	Fail	
34	ET25BTC0035	NAIK SUHANI JIGARKUMAR	A+	B+	A	A	B	B+	O	A	A+	A+	A+	A+	A+	O	O	A+	O	O	O	B+	A+	A	A	A	A	B+	A	O	A+	O	A	B+	A	176	21	8.38	21	0	Pass	
35	ET25BTC0036	NANCY JEETENDRA GAJERA	B	A	B+	B+	P**	B	O	B+	A+	A	A+	A+	O	O	O	B+	O	A+	O	A	A+	A	A	A	B	B	B	A	B	B+	B+	C	B	154	21	7.33	21	0	Pass	
36	ET25BTC0037	NIHAR VAGHELA	B	P*	C	C	F	F	A	P	B	C	P	C	B+	A	A	P	F	F	C	P	C	A	C	B+	P	C	C	A	A	A	P	B+	B	98	21	4.67	17	2	Fail	
37	ET25BTC0038	PATEL ARYANKUMAR VASANTBHAI	A+	A	A+	O	B+	A+	O	A+	O	A+	A+	A+	O	A+	O	O	O	O	A	A+	A	B+	A	B+	A	B+	C	B	O	B+	A+	A+	O	O	189	21	9.00	21	0	Pass
38	ET25BTC0039	PATEL HARSHKUMAR SHAILESHKUMAR	A+	A	A+	A+	C	B+	A	A	A	A	O	A+	O	A	A+	A+	O	O	O	B+	A+	A	B	B+	A	B	B+	A	A	A	A+	A	A+	176	21	8.38	21	0	Pass	
39	ET25BTC0040	PATEL HELLY HITESHKUMAR	B	B+	B+	B	C	B	O	B+	A+	B+	B+	B+	O	B+	A+	B+	O	A+	A+	B+	A	A	B	B+	A	A	A	B+	A+	A	B	C	B	151	21	7.19	21	0	Pass	
40	ET25BTC0041	PATEL MITANSHU SANKETBHAI	B	P*	C	C	F	F	O	B	A	P	P*	P	O	B+	A+	A	A+	A+	O	B	A	A	A	A	C	P	C	A+	A	A+	P	F	F	92	21	4.38	14	2	Fail	
41	ET25BTC0042	PATEL SAKSHAM PARESHKUMAR	C	B	B	B	C	B	B	B	B	C	B	B	A	A	A	C	B+	B	A	B	B+	A	B	B+	B	A	B+	C	B+	B	C	P	C	129	21	6.14	21	0	Pass	
42	ET25BTC0043	PRAJAPATI NISHITHA JIGNESHBHAI	P	C	C	C	F	F	A	B+	A	P	P	P	A	A+	A+	B	A+	A	O	A	A+	A	B	B+	P	P*	P	B	A	B+	P	F	F	88	21	4.19	14	2	Fail	
43	ET25BTC0044	PRISHA GANDHI	A+	B+	A	A+	P	B+	O	A	A+	O	O	O	A+	O	O	A+	O	O	O	A	A+	A	B+	A	B+	B+	B+	A	A	A	A+	A+	A+	178	21	8.48	21	0	Pass	
44	ET25BTC0045	RANA FENIL RAKESH	C	C	C	B+	F	F	O	B+	A+	A	B	B+	O	A	A+	B+	B+	B+	A	B+	A	A	C	B+	P	F	F	B+	A	A	A+	A	A+	121	21	5.76	16	2	Fail	
45	ET25BTC0046	SAVALIYA HEER BHAVESHBHAI	A+	B+	A	A	B+	A	O	A	A+	O	O	O	O	O	O	A+	O	O	O	A	A+	A	B	B+	A	B+	A	A+	A+	A+	A+	A+	A+	A+	183	21	8.71	21	0	Pass
46	ET25BTC0047	SHAH AGNA SHRIPALKUMAR	A+	A	A+	A+	B+	A	O	O	O	O	A+	O	A+	O	O	O	O	O	O	O	O	A	A	A	A	B+	A	O	A+	O	A+	A	A+	A+	191	21	9.10	21	0	Pass
47	ET25BTC0048	SHAH RAJ CHETANKUMAR	A	A	A	A	B+	A	O	O	O	O	O	O	O	O	O	A+	O	O	O	O	O	A	A	A	A	B+	A	A+	A	A+	A	B+	A	183	21	8.71	21	0	Pass	
48	ET25BTC0049	SHAH SHAILEE PRITESHKUMAR	A	B+	A	A	B	B+	O	A	A+	B+	A+	A	O	A+	O	A+	O	O	O	A	A+	A+	B	A	A	B	B+	O	A+	O	B	C	B	164	21	7.81	21	0	Pass	
49	ET25BTC0050	SHARMA MEGHKUMAR SHAILESH	B	C	B	B+	C	B	A+	B	A	B+	B+	B+	A	A	A	A	A	A	A	C	B+	A	P	B	B+	B	B+	A	P	B	P	P	P	130	21	6.19	21	0	Pass	
50	ET25BTC0051	SHETA HEMISHA AMITBHAI	B+	B	B+	B	P*	C	O	B+	A+	B	C	B	B+	A+	A	A	O	A+	O	A+	O	A	B	B+	C	P**	C	B	A	B+	B+	B	B+	146	21	6.95	21	0	Pass	

Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

for





Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering
Winter 2025 Regular Exam Semester-I Result



Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

Print On Date: 30/Jan/2026 10:19 AM

Sr No	Enrollment No	Student Name	3			3			1			2			1			1			2			1			2			1			4			Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bkg	Result
			Physics - Quantum Mechanics[BTAS21107]			Basic Electrical Engineering[BTEL22101]			Basic Electrical Engineering Lab[BTEL22102]			Python Programming[BTCO22101]			Python Programming Lab[BTCO22102]			Engineering Graphics and Design[BTME22101]			Engineering Graphics and Design Lab[BTME22102]			Electrical and Electronics Workshop[BTGN22102]			Energy & Environmental Engineering[BTCH22101]			Energy & Environmental Engineering Lab[BTCH22102]			Mathematics-I[BTAS21105]								
			CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade						
51	ET25BTC0052	SHINGALA DARSHITA VITTHALBHAI	A	B+	A	A	B	B+	O	A	A+	A+	A	A+	B+	A+	A	O	A+	O	A	A+	A	B+	A	B+	C	B	B+	A+	A	A	B	B+	163	21	7.76	21	0	Pass	
52	ET25BTC0053	SHLOK DALSANIA	A	B	B+	B+	P*	B	O	A+	O	A+	A+	A+	O	O	O	A+	A	A+	O	A	A+	A	A	A	A	B+	A	A+	A	A+	A	B	B+	165	21	7.86	21	0	Pass
53	ET25BTC0054	SHYANI BHAVYA CHETANBHAI	B	F	F	P	F	F	B	C	B	C	C	C	A+	B+	A	P	B	C	B+	C	B	B+	P	B	C	B	B	B+	B+	P	F	F	66	21	3.14	11	3	Fail	
54	ET25BTC0055	SNEHA MAYANK KANKESHWAR	A	B+	A	B+	P**	B	O	B	A	O	O	O	B	O	A	A	A+	A+	A	B+	A	A	A	A	A	B	B+	A	B	B+	B+	A	A	164	21	7.81	21	0	Pass
55	ET25BTC0056	SONANI KRISHA PARESHBHAI	A	A+	A+	A+	P*	B+	O	A	A+	O	B	A	A	A+	A+	O	O	O	O	A+	O	A+	B+	A	A	B+	A	A+	O	O	A	B	B+	174	21	8.29	21	0	Pass
56	ET25BTC0057	SOPARIWALA SANSKRUTI JAYESHWAR	A	A+	A+	B	B+	B+	O	A+	O	B+	O	A+	O	O	O	A+	O	O	A+	B+	A	A+	A	A+	B+	A	A	A+	A+	A+	B+	B+	B+	174	21	8.29	21	0	Pass
57	ET25BTC0058	SUTARIYA HETAVI ASHVINBHAI	A	B+	A	A	B	B+	O	A+	O	A	A	A	A+	A	A+	O	O	O	O	A	A+	A+	B	A	B+	C	B	A+	A	A+	A	A+	A+	173	21	8.24	21	0	Pass
58	ET25BTC0059	TAILOR ANUJ PIYUSH	B+	C	B	B	P**	C	A+	B	A	C	B	B	A+	A	A+	A+	A	A+	O	B	A	A+	C	B+	B	C	B	B+	B+	B+	B	C	B	137	21	6.52	21	0	Pass
59	ET25BTC0060	TANDEL PAHAL HIMANSHUKUMAR	A	B+	A	B+	C	B	O	B+	A+	B+	B+	B+	A	A+	A+	O	O	O	A+	A	A+	A+	B	A	B+	B+	B+	A	A+	A+	A	B+	A	165	21	7.86	21	0	Pass
60	ET25BTC0061	THAKOR HARSHIT KIRANSINH	A+	A+	A+	A+	C	B+	O	A+	O	A+	A	A+	B+	A+	A	O	O	O	O	A	A+	A+	A+	A+	B+	P*	B	A	A	A	A+	B+	A	173	21	8.24	21	0	Pass
61	ET25BTC0062	VAGHASIYA DEVANG SHAMBHUBHAI	B+	A	A	A	C	B+	O	A	A+	A+	A+	A+	A	A	A	A+	A	A+	O	A+	O	A	A	A	A	B+	A	A	A	A	A	B	B+	169	21	8.05	21	0	Pass
62	ET25BTC0063	VEDANT AMARBHAI CHAMPANERIA	A	B	B+	A	P**	B	A+	A	A+	B+	A	A	O	A+	A	B+	A	A+	C	B+	A+	C	B+	B+	B+	B+	B+	A+	A	A+	B	B+	B+	153	21	7.29	21	0	Pass
63	ET25BTC0064	VEEVAN RITESHKUMAR SHAH	B	C	B	B	F	F	O	B+	A+	C	C	C	B+	A+	A	B	A	B+	B+	C	B	A	P	B	B+	C	B	B+	A	A	B+	C	B	114	21	5.43	18	1	Fail
64	ET25BTC0065	VIDANI RITI SHITUL	P	B+	B	A+	P**	B+	O	A+	O	A	O	A+	A+	A+	A+	A	A+	A+	O	O	O	A	A	A	B+	B+	B+	B+	A	A	A+	A+	A+	171	21	8.14	21	0	Pass
65	ET25BTC0066	VISHVA PAMBHAR	B+	B+	B+	B	F	F	A+	A	A+	A	A+	A+	A+	A	A+	B	A	B+	O	A	A+	A	P	B	C	B	B	B+	B	B+	B+	B+	B+	135	21	6.43	18	1	Fail
66	ET25BTC0067	ANJARA VANSI DHIRAJBHAI	B	P*	C	C	F	F	B+	P	B	B	B	B	A+	B	A	B	P	C	B+	B	B+	O	B+	A+	C	F	F	B	P	C	B	F	F	74	21	3.52	12	3	Fail
67	ET25BTC0068	ASODARIYA SAMIKSHA NILESHBHAI	B+	B	B+	B	P**	C	O	A	A+	A	P	B	C	A	B+	A	A	A	O	A	A+	A+	B	A	B	C	B	B	A+	A	B	B+	B+	146	21	6.95	21	0	Pass
68	ET25BTC0069	BHAGAT NEEL SHAILESH	B+	B+	B+	B	P	C	A	B	B+	B	B+	B+	B	B+	B+	B+	B+	B+	B+	B+	A	B+	A	B	B	B	B	C	A+	B+	C	P*	C	133	21	6.33	21	0	Pass
69	ET25BTC0070	BHATTI JASDEEPSINGH AMARJEETSINGH	A	B	B+	B+	P*	B	B+	A	A	A	B+	A	A	O	A+	B	B	B	A+	B+	A	A	B	B+	B	B	B	A	A+	A+	B+	A	A	154	21	7.33	21	0	Pass
70	ET25BTC0071	BHAYANI VINISHA JAYESHWAR	A	B	B+	B	P**	C	A	A	A	B+	B+	B+	A+	O	O	A+	A+	A+	A+	B+	A	A+	A	A+	B	C	B	B	A	B+	B	B	B+	149	21	7.10	21	0	Pass
71	ET25BTC0072	CHAUDHARI SAMARTH DINESHBHAI	B+	B+	B+	B+	F	F	A	A	A	A+	A+	A+	A	O	A+	O	O	O	A+	A	A+	A	B+	A	A	B	B+	A	A+	A+	B+	A+	A	147	21	7.00	18	1	Fail
72	ET25BTC0073	CHAUHAN MANAN RAVINDRA	A	B+	A	A	B+	A	A+	A	A+	A	A+	A+	A	A	A	A+	O	O	A+	A+	A+	A+	A	A	B	B+	A	B	B+	A	A	A	173	21	8.24	21	0	Pass	
73	ET25BTC0074	CHAUHAN SUHANI DILIPBHAI	P	C	C	C	F	F	O	A	A+	A	A	A	A	A	A	A	O	A+	A+	A	A+	O	A	A+	B	C	B	B+	A	A	B+	C	B	128	21	6.10	18	1	Fail

Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

for.

for.

for.

for.





Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering
Winter 2025 Regular Exam Semester-I Result



Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

Print On Date: 30/Jan/2026 10:19 AM

Sr No	Enrollment No	Student Name	3			3			1			2			1			1			2			1			2			1			4			Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result
			Physics - Quantum Mechanics[BTAS21107]			Basic Electrical Engineering[BTTEL22101]			Basic Electrical Engineering Lab[BTTEL22102]			Python Programming[BTTCO22101]			Python Programming Lab[BTTCO22102]			Engineering Graphics and Design[BTME22101]			Engineering Graphics and Design Lab[BTME22102]			Electrical and Electronics Workshop[BTGN22102]			Energy & Environmental Engineering[BTCH22101]			Energy & Environmental Engineering Lab[BTCH22102]			Mathematics-I[BTAS21105]								
			CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade						
74	ET25BTCO075	CHAVADA SANDHYA VINODBHAI	B+	B	B+	B	F	F	O	B	A	O	A	A+	A+	A	A+	A	A+	A+	O	O	O	O	A	A+	B+	C	B	B+	A	A	B+	B+	B+	142	21	6.76	18	1	Fail
75	ET25BTCO076	DANKHARA VASU BHAVESHBHAI	B+	B+	B+	B+	C	B	A	C	B+	A	A	A	A+	A+	A+	A+	A+	A	B+	A	O	B+	A+	B	B	B	B	A+	A	B	B	B	149	21	7.10	21	0	Pass	
76	ET25BTCO077	DESAI JUSAL PRITESH	A	A	A	B	P*	C	A	B	B+	A+	B+	A	A	A	A	A+	A+	A	B	B+	O	O	O	A+	B+	A	A+	A	A+	B	P*	C	148	21	7.05	21	0	Pass	
77	ET25BTCO078	DEVGANIYA PARSHW RAJENDRAKUMAR	A	B+	A	B+	C	B	O	B	A	B+	B	B+	B	B+	B+	A+	A	A+	A+	A	B+	A	B+	P*	B	A	O	A+	A	B+	A	159	21	7.57	21	0	Pass		
78	ET25BTCO079	DHOLIYA DHIRUV ALPESHBHAI	A+	A+	A+	B+	B+	B+	A	A	A	O	A+	O	O	O	O	O	O	A+	A+	A+	A+	A+	A+	A	A	A	A+	A	A+	A	B+	A	180	21	8.57	21	0	Pass	
79	ET25BTCO080	DHVANI VANSIA	A	B	B+	B+	F	F	A	B	B+	B	B+	B+	O	O	O	A+	A+	A+	A	B	B+	A+	B+	A	A	B+	A	B	O	A	B+	P*	B	131	21	6.24	18	1	Fail
80	ET25BTCO081	DOBARIYA HEET SANJAYBHAI	B+	B	B+	C	P*	C	A+	A	A+	A	B	B+	A	A+	A+	B+	A	A	A+	A	A+	A	B	B+	B+	B	B+	B+	O	A+	B	A+	A	156	21	7.43	21	0	Pass
81	ET25BTCO082	DOBARIYA TRUSHA PARESHBHAI	B+	A	A	A	B	B+	O	A+	O	A+	B+	A	A	A+	A+	O	B+	A+	O	A+	O	A	A+	A+	A+	C	B+	A	B	B+	A+	O	O	179	21	8.52	21	0	Pass
82	ET25BTCO083	DRASHTI PATEL	B+	B+	B+	C	F	F	O	A	A+	O	A	A+	O	O	O	O	A	A+	A+	A+	A+	A	A	A+	A	B	B+	A	A	A	A	C	B+	144	21	6.86	18	1	Fail
83	ET25BTCO084	GOHIL JAINAMKUMAR GIRISHBHAI	B	B	B	C	F	F	A	A	A	B	B+	B+	A+	O	O	B	A	B+	B+	B+	B+	A	B	B+	B	P*	C	A	C	B+	C	P*	C	115	21	5.48	18	1	Fail
84	ET25BTCO085	GOLKIYA YUG SAILESHBHAI	B	C	B	B	F	F	A+	A	A+	A	B	B+	A+	O	O	A	A	A	B+	B	B+	A	A	A	B+	B+	B+	B+	B	B+	B+	P*	B	126	21	6.00	18	1	Fail
85	ET25BTCO086	GORASIYA HIRAL LALITBHAI	A	B+	A	B+	C	B	O	B	A	O	B	A	A	A	O	O	O	O	A+	O	A	A	A	B+	C	B	B	A	B+	A	P*	B+	159	21	7.57	21	0	Pass	
86	ET25BTCO087	GOTI JENI DILIPBHAI	A	B+	A	B+	F	F	A	B+	A	O	B	A	A	A+	A+	O	A+	O	A+	B+	A	A+	A	B+	A	A	A	A+	O	O	B+	B+	B+	146	21	6.95	18	1	Fail
87	ET25BTCO088	HARSH JIGNESH KADHIWALA	B+	C	B	P	F	F	A+	B+	A	A+	A	A+	A	A	A	B+	C	B	A+	A	A+	A	A	A	B+	B	B+	B+	A	A	A+	O	O	146	21	6.95	18	1	Fail
88	ET25BTCO089	HONEY PATEL	A+	B+	A	B+	P	B	O	A	A+	O	O	O	O	A+	O	O	A+	A+	A+	O	A	A+	A	B+	A	O	A+	O	A+	A	A+	180	21	8.57	21	0	Pass		
89	ET25BTCO090	JAHNVI DHOL	C	F	F	P	F	F	A+	P	B+	C	F	F	A	B	B+	B	A	B+	O	A+	O	A	B+	A	B	C	B	B+	B+	B+	C	F	F	68	21	3.24	9	4	Fail
90	ET25BTCO091	KAKADIYA VIDHI JAGDISHBHAI	A	B	B+	B+	B+	B+	A+	A	A+	O	O	O	A	O	A+	O	O	O	A+	O	A+	O	O	A	A	A	A	A+	A+	B+	B+	B+	173	21	8.24	21	0	Pass	
91	ET25BTCO092	KATARIYA NAITIK PARESHKUMAR	B	C	B	C	F	F	A+	B	A	A	C	B+	A+	A	A+	B	B	B	A	B	B+	A	A	A	B	C	B	B+	A	A	C	F	F	97	21	4.62	14	2	Fail
92	ET25BTCO093	KATARIYA NIRMIT PARESHKUMAR	B	P*	C	P	F	F	A+	B	A	A	C	B+	A+	A	A+	P	C	C	B+	C	B	A	B+	A	C	C	C	B	A	B+	C	C	C	108	21	5.14	18	1	Fail
93	ET25BTCO094	KATHIRIYA KUNJ NARESHBHI	B	C	B	C	F	F	B+	B	B+	O	A+	O	A	A	A	B+	B+	B+	A	A	A	A	B	B+	B	C	B	A	A	A	B	P	C	123	21	5.86	18	1	Fail
94	ET25BTCO095	KATWALA RISHI AMISHKUMAR	B	B+	B+	B+	C	B	O	B+	A+	O	B	A	A	A	A	A+	O	O	A+	A+	A+	A	A+	A+	A	B	B+	A	B+	A	A+	A+	A+	167	21	7.95	21	0	Pass
95	ET25BTCO096	KAVYA PRAFULL PATIL	B+	C	B	C	F	F	O	B	A	A+	A+	A+	A	A+	A+	O	P	B+	A+	A+	A+	O	P	B+	B+	B	B+	A	A	A	B	P*	C	127	21	6.05	18	1	Fail
96	ET25BTCO097	KAWADIYA NISHTHA MANOJKUMAR	A+	B+	A	B	C	B	A	A	A	A+	B	A	B	O	A	A	A+	A+	O	A	A+	A+	A	A	B+	B	B+	A	C	B+	A+	A+	A+	167	21	7.95	21	0	Pass
97	ET25BTCO098	KEVADIYA RIYA ALPESHBHAI	B	B	B	B+	B	B+	O	B+	A+	A+	B+	A	C	A	B+	O	O	O	O	A	A+	A	A	A	B+	P*	B	B+	O	A+	A+	A+	A+	164	21	7.81	21	0	Pass
98	ET25BTCO099	LAD YUG JITENDRABHAI	B+	B	B+	B+	B	B+	A	B+	A	A	C	B+	A	O	A+	A	O	A+	A	B+	A	A	A	A	A	B	B+	A	A+	A+	B+	B+	B+	157	21	7.48	21	0	Pass
99	ET25BTCO100	LADANI VASU SANJAYKUMAR	C	C	C	P	C	C	B+	B+	B+	B+	B	B+	B	A+	A	A	O	A+	A+	A	A+	A+	A	A+	C	P*	C	B+	A	A	A	B+	A	145	21	6.90	21	0	Pass

Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

for

[Signature]

[Signature]

[Signature]





Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering
Winter 2025 Regular Exam Semester-I Result



Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

Print On Date: 30/Jan/2026 10:19 AM

Sr No	Enrollment No	Student Name	3			3			1			2			1			1			2			1			2			1			4			Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result			
			Physics - Quantum Mechanics[BTAS21107]			Basic Electrical Engineering[BTTEL22101]			Basic Electrical Engineering Lab[BTTEL22102]			Python Programming[BTCTO22101]			Python Programming Lab[BTCTO22102]			Engineering Graphics and Design[BTME22101]			Engineering Graphics and Design Lab[BTME22102]			Electrical and Electronics Workshop[BTGN22102]			Energy & Environmental Engineering[BTCH22101]			Energy & Environmental Engineering Lab[BTCH22102]			Mathematics-I[BTAS21105]											
			CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade									
100	ET25BTCO101	LATHIYA MEET VIJAYBHAI	B	B+	B+	B+	C	B	A+	A	A+	B+	C	B	B	A	B+	A	O	A+	A+	A	A+	A+	B	C	B	B	A	B+	A	B+	A	154	21	7.33	21	0	Pass					
101	ET25BTCO102	MALANI NEVIL HARESHBHAI	B	B	B	B+	P	B	O	A	A+	B+	P*	B	A	B	B+	B+	B+	B+	A+	B+	A	A	A+	A+	B	P	C	B	A	B+	B+	C	B	137	21	6.52	21	0	Pass			
102	ET25BTCO103	MARCHAWALA DHRUMIL SAMIR	A	A+	A+	B	B+	B+	A+	B	A	A+	A+	A+	O	A+	O	O	A	A+	A	A	A	O	B+	A+	A	B	B+	A+	A	A+	A	O	A+	A	O	A+	177	21	8.43	21	0	Pass
103	ET25BTCO104	MISTRY HARSHIL DHARMESH	B	C	B	A	P*	B	O	A	A+	A+	B+	A	C	B+	B	O	O	O	A+	A	A+	A+	A	A+	B+	C	B	B+	O	A+	B	B+	B+	153	21	7.29	21	0	Pass			
104	ET25BTCO105	MOCHI PRINCEKUMAR RAMESHBHAI	B+	B	B+	B	P	C	A	B+	A	A	P*	B	B	B	B	A	A+	A+	A+	A	A+	A	A	A	B+	B+	B+	A	B+	A	B+	A	A	151	21	7.19	21	0	Pass			
105	ET25BTCO106	MOLIYA NIHAL NAVALBHAI	A	B+	A	B+	C	B	A+	A+	A+	B+	C	B	O	A+	O	O	A	B+	A	A+	B	A	B+	B	B+	A+	A	A+	B+	B+	B+	A	A	A	158	21	7.52	21	0	Pass		
106	ET25BTCO107	MUNSHI AMMAR KHALID	A+	B+	A	B	B+	B+	B+	A	A	A	A+	A+	A+	O	A+	O	A	A+	A+	A	A	A	A+	A	A+	B+	B	B+	A+	A	A+	A+	A	A	A+	174	21	8.29	21	0	Pass	
107	ET25BTCO108	MURTI KHUNT	B+	B+	B+	B+	B+	B+	O	B+	A+	O	B+	A+	A	A+	A+	A+	A+	O	O	O	O	O	A+	O	O	A	B+	A	A+	A+	A+	A+	A+	A+	A+	179	21	8.52	21	0	Pass	
108	ET25BTCO109	PANDAV KRUTI KANUBHAI	B	B+	B+	C	C	C	A	B+	A	A+	B	A	B+	A	A	A	O	A+	O	A	A+	A	B	B+	B+	B	B+	B+	A+	A	B+	C	B	148	21	7.05	21	0	Pass			
109	ET25BTCO110	PANIGRAHI SIBARAM SIMANCHAL	B+	B	B+	B	P**	C	A+	A+	A+	A+	A	A+	B+	O	A+	A	O	A+	A+	A+	A+	B+	A	B+	B	B+	A	A	A	A	B	B+	A	A	157	21	7.48	21	0	Pass		
110	ET25BTCO111	PANSHERIYA RUDRA JAYESHKUMAR	A	B	B+	B+	B	B+	A	A+	A+	A+	B	A	A	A	A	B+	O	A+	A	B+	A	A+	A	A	B+	A	A	A+	A+	A	B	B	B	158	21	7.52	21	0	Pass			
111	ET25BTCO112	PATEL NEHAKUMARI PRAVINBHAI	B	B+	B+	C	C	C	A+	B+	A	A	B+	A	O	O	O	A+	A	A+	A+	A	A+	A	A	A	B	B+	B+	A	A	A	B+	B	B+	155	21	7.38	21	0	Pass			
112	ET25BTCO113	PATEL ISHAN JIGNESHBHAI	B+	B	B+	B+	B	B+	A	A	A	A	B	B+	O	A+	O	O	B+	A	A	A+	A	A+	A	B	B	B+	B+	B+	B+	A	A	A	A	A	162	21	7.71	21	0	Pass		
113	ET25BTCO114	PATEL KRISH SHAILESH	B	C	B	C	P	C	B+	C	B	B	P*	C	A	A	A	B	B	B	B	C	B	A+	B+	A	B	C	B	B+	A	A	C	F	F	103	21	4.90	17	1	Fail			
114	ET25BTCO115	PATEL MESHWA ASHWINBHAI	A	B+	A	B	P**	C	O	B	A	A+	B+	A	B	A	B+	A+	O	O	A+	A	A+	A+	A	B+	C	B	A	A	A	A	A	A	A	A	159	21	7.57	21	0	Pass		
115	ET25BTCO116	PATEL NIYATI SHAILESHBHAI	B	B+	B+	B	B	B	A+	B	A	A+	B	A	A	A+	A+	O	O	O	O	A	A+	A+	B	A	B+	B	B+	B+	A	A	B+	B+	B+	158	21	7.52	21	0	Pass			
116	ET25BTCO117	PATEL VANSHIKA MAHESHKUMAR	B+	B	B+	B	B	B	A	B+	A	A	B+	A	A+	A	A+	A+	A+	A+	A	A+	A+	B	A	B	B	B	B	B+	B+	B+	A	A	A	A	158	21	7.52	21	0	Pass		
117	ET25BTCO118	PATEL VRAJ PARSOTTAMBHAI	B+	C	B	B	B	B	A	A	A	A+	B+	A	B	A	B+	A+	O	O	A	A	A	A+	A+	A+	B+	C	B	A	A	A	A	B+	A	A	154	21	7.33	21	0	Pass		
118	ET25BTCO119	RAJANI MANSAVI MUKESHBHAI	B+	C	B	C	F	F	A	B	B+	A	B	B+	A+	A+	A+	A	O	A+	A	B+	A	A+	B	A	B	P	C	B+	O	A+	B+	F	F	100	21	4.76	14	2	Fail			
119	ET25BTCO120	RANA KISHAN DIPAKBHAI	B+	B+	B+	C	C	C	A	A+	A+	A	A	A	A+	A+	A+	B+	A	A	A	A	A	A+	B+	A	A	B	B+	A	A+	A+	B+	B	B+	153	21	7.29	21	0	Pass			
120	ET25BTCO121	RANA NIRAV KALPESHKUMAR	B+	B	B+	C	P*	C	A+	B+	A	A	B+	A	A+	O	O	B	F	F	A+	A+	A+	A+	A+	A	B	B+	A	A	A	B	F	F	119	21	5.67	16	2	Fail				
121	ET25BTCO122	SAVANI HASTI SURESHBHAI	B+	B	B+	C	P	C	O	B+	A+	A	B+	A	A	A+	A+	O	A	A+	A+	A	A+	A	A	A	B	C	B	A	O	A+	A	A+	A	A	163	21	7.76	21	0	Pass		
122	ET25BTCO123	SETA ALKESH PUNABHAI	C	P	C	C	F	F	A+	C	B+	B+	F	F	A+	B	A	B	A	B	A	B+	A	A	A	A	P	F	F	B+	A	A	B	P*	C	89	21	4.24	14	3	Fail			
123	ET25BTCO124	SHANI VRUSHTI CHIRAG	A	B+	A	B+	B	B+	A	A	A	A+	B+	A	A+	A+	A+	A+	A	A	A	O	A+	O	A	B	B+	A	O	A+	A	A	A	A	A	A	172	21	8.19	21	0	Pass		

Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

for:





Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering
Winter 2025 Regular Exam Semester-I Result



Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

Print On Date: 30/Jan/2026 10:19 AM

Sr No	Enrollment No	Student Name	3			3			1			2			1			1			2			1			2			1			4			Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result
			Physics - Quantum Mechanics[BTAS21107]			Basic Electrical Engineering[BTTEL22101]			Basic Electrical Engineering Lab[BTTEL22102]			Python Programming[BTTCO22101]			Python Programming Lab[BTTCO22102]			Engineering Graphics and Design[BTME22101]			Engineering Graphics and Design Lab[BTME22102]			Electrical and Electronics Workshop[BTGN22102]			Energy & Environmental Engineering[BTCH22101]			Energy & Environmental Engineering Lab[BTCH22102]			Mathematics-I[BTAS21105]								
			CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade						
124	ET25BTCO125	SHREY JAGDISHBHAI CHAVDA	B+	B	B+	B	C	B	A	A	A	A+	B+	A	B	O	A	A	A	A	A+	A+	A+	A	A	A	B+	C	B	B+	B+	B+	B+	B	B+	152	21	7.24	21	0	Pass
125	ET25BTCO126	SORATHIYA MEET RAVINDRABHAI	B	B	B	B	B	B	A	A	A	A+	A	A+	B+	A	A	B+	A+	A	B	B+	B+	A	B	B+	B	C	B	B	B+	B+	B	C	B	142	21	6.76	21	0	Pass
126	ET25BTCO127	SUMIT SHARMA	A	A	A	A	A	A	A	A	A	O	A+	O	A	A+	A+	A+	A+	A+	O	A	A+	A	A	A	A	A	A	A+	A+	A+	A+	A+	A+	181	21	8.62	21	0	Pass
127	ET25BTCO128	TOPIWALA VAISHVI TEJAS	A	B	B+	P	B	C	B	B	B	A+	B	A	B	O	A	P	C	C	A+	A+	A+	A	B	B+	B	B+	B+	C	A	B+	B+	P	B	141	21	6.71	21	0	Pass
128	ET25BTCO129	VAGHASIYA OM LALJIBHAI	A	B	B+	B+	C	B	A+	A	A+	B+	B	B+	B+	A+	A	O	O	O	A+	A+	A+	A	A+	A+	B+	B	B+	B	A+	A	A	A	A	161	21	7.67	21	0	Pass
129	ET25BTCO130	VAGHASIYA DAKSHKUMAR SHAILESHKUMAR	B+	A+	A	B+	C	B	A+	B	A	O	A+	O	B+	A	A	A	A+	A+	A+	A	A+	A	A+	A+	B+	P	B	A	B	B+	A	B	B+	161	21	7.67	21	0	Pass
130	ET25BTCO131	VAGHELA VATSAL BIPINBHAI	A	B+	A	A	B	B+	O	A	A+	O	A+	O	B+	A+	A	O	O	O	A+	A+	A+	A	A	A	A	B	B+	A	A	A	A+	A+	A+	176	21	8.38	21	0	Pass
131	ET25BTCO132	VARIYA MANSVI JIGNESH	B	B	B	B	B	B	A+	A	A+	A	B+	A	B+	A	A	A	A+	A+	O	A+	O	A	B	B+	B	P	C	A	A	A	A	B+	A	155	21	7.38	21	0	Pass
132	ET25BTCO133	VASANI YESHA RAJUBHAI	A	B	B+	B+	P	B	A	A+	A+	A	B+	A	B	A+	A	O	A	A+	O	A+	O	A	B	B+	B	C	B	B+	A+	A	A+	O	O	168	21	8.00	21	0	Pass
133	ET25BTCO134	VEKARIYA JENISHKUMAR DHANJIBHAI	B+	B	B+	C	C	C	A	A	A	B+	B+	B+	A+	A	A+	B+	B	B+	A	B+	A	O	A+	O	B	P**	C	B+	C	B	B+	C	B	140	21	6.67	21	0	Pass
134	ET25BTCO135	AAHAN MEHTA	O	A	A+	B+	C	B	A	B	B+	A+	A	A+	A+	A	A+	A+	A	A+	A+	A+	A+	O	B	A	A	A	A	A+	B+	A	A+	A	A+	174	21	8.29	21	0	Pass
135	ET25BTCO136	ADITYA JARIWALA	B	P*	C	P	F	F	C	F	F	B+	C	B	A+	A	A+	P	B	C	B	C	B	A	A	A	P	C	C	B	B+	B+	B+	F	F	78	21	3.71	13	3	Fail
136	ET25BTCO137	AHIR DEVKUMAR HEMANTBHAI	A+	B+	A	A+	C	B+	A	A	A	B	A	B+	A+	A	A+	A+	O	O	A+	B+	A	B+	A+	A	B+	B+	B+	B+	A	A	B+	A	A	164	21	7.81	21	0	Pass
137	ET25BTCO138	BAREVADIYA DENISH HITESHBHAI	A+	B+	A	A+	B	A	A+	P	B+	A+	B+	A	A+	A	A+	B	A	B+	A+	A	A+	A	A	A	B+	P**	B	B+	B	B+	B+	A	A	164	21	7.81	21	0	Pass
138	ET25BTCO139	BHATIYA KIRTAN RAMESHBHAI	A	B	B+	B+	C	B	B+	A	A	A	P	B	A+	O	O	A	O	A+	A+	B+	A	B+	A+	A	C	P	C	B	B	B	A	B+	A	150	21	7.14	21	0	Pass
139	ET25BTCO140	BHAYANI RUTVA PANKAJBHAI	B+	C	B	B+	F	F	A	A	A	A	C	B+	A	B+	A	A	A	A	A+	C	B+	A	O	A+	B+	F	F	B+	A	A	A	B+	A	119	21	5.67	16	2	Fail
140	ET25BTCO141	BHOGESARA PARTH NAGESHBHAI	B+	B+	B+	C	P	C	A+	B	A	B+	F	F	O	A	A+	B+	P	B	A	C	B+	O	B	A	B	C	B	A+	A	A+	B	F	F	102	21	4.86	15	2	Fail
141	ET25BTCO142	CHAUDHARI CHAITALI SANDEEPBHAI	A	B+	A	A+	B	A	O	A	A+	A+	A	A+	A+	B+	A	O	O	O	A+	O	O	A	A	A	B	P*	C	A	A+	A+	O	A	A+	176	21	8.38	21	0	Pass
142	ET25BTCO143	CHAUDHARI PALAK DHARMENDRABHAI	B	F	F	C	F	F	A	B+	A	B+	F	F	A	C	B+	A	A	A	A+	A	A+	B	B	B	C	F	F	A	B+	A	C	F	F	55	21	2.62	7	5	Fail
143	ET25BTCO144	CHAVDA RUDRA JAGDISHKUMAR	P	C	C	F	F	F	NA	F	F	F	C	F	F	C	F	P	F	F	NA	NA	F	B+	B	B+	F	C	F	NA	F	F	P	F	F	22	21	1.05	4	9	Fail
144	ET25BTCO145	CHHABDA DISHA RAMKUMAR	B+	C	B	B+	B+	B+	A	B+	A	A+	B+	A	A	A+	A+	A+	A	A+	A+	B+	A	A+	A	A+	B	B+	B+	B	A+	A	O	A	A+	164	21	7.81	21	0	Pass
145	ET25BTCO146	DEVANI BHUMIK UMESHBHAI	A	B	B+	B	C	B	B	B+	B+	A	B+	A	A	A	A	A	A	A	A+	B	A	A	A+	A+	B	C	B	B+	A+	A	A+	B	A	155	21	7.38	21	0	Pass
146	ET25BTCO147	DEVGANIYA RIYA DILIPBHAI	A	B+	A	B	B	B	A	B+	A	A+	B	A	A+	A	A+	A	A+	A+	O	A+	O	A	A+	A+	B	B	B	B+	A+	A	A+	B+	A	165	21	7.86	21	0	Pass
147	ET25BTCO148	DHRUV PARMAR	B	F	F	P	F	F	A	B+	A	B+	C	B	A	B+	A	C	F	F	B	P	C	B+	B	B+	B	C	B	A	A	A	P	F	F	65	21	3.10	10	4	Fail
148	ET25BTCO149	DIHORA MANAN SANDIPBHAI	B+	B+	B+	B	C	B	A+	A	A+	B+	C	B	B+	C	B	A	O	A+	A+	B	A	A	B+	A	B	C	B	A	A	A	A+	C	B+	147	21	7.00	21	0	Pass

Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

for.



Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering
Winter 2025 Regular Exam Semester-I Result



Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

Print On Date: 30/Jan/2026 10:19 AM

Sr No	Enrollment No	Student Name	3			3			1			2			1			2			1			2			1			4			Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result						
			Physics - Quantum Mechanics[BTAS21107]			Basic Electrical Engineering[BTTEL22101]			Basic Electrical Engineering Lab[BTTEL22102]			Python Programming[BTTCO22101]			Python Programming Lab[BTTCO22102]			Engineering Graphics and Design[BTME22101]			Engineering Graphics and Design Lab[BTME22102]			Electrical and Electronics Workshop[BTGN22102]			Energy & Environmental Engineering[BTCH22101]			Energy & Environmental Engineering Lab[BTCH22102]									Mathematics-I[BTAS21105]					
			CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade							CCE	SEE	Course Grade			
149	ET25BTCO150	DONGA KRISHNABEN VIPULBHAI	B	F	F	B+	F	F	A	B	B+	B+	P*	B	A+	A	A+	A	B	B+	A+	B+	A	A	A+	A+	B	P*	C	A	C	B+	B+	P*	B	101	21	4.81	15	2	Fail			
150	ET25BTCO151	GANGANI ANGEL SHAILESHBHAI	B+	C	B	A	F	F	A	B	B+	B+	C	B	A+	A+	A+	B+	B	B+	O	C	A	B+	A+	A	B	P*	C	A	B	B+	A	C	B+	122	21	5.81	18	1	Fail			
151	ET25BTCO152	GANGANI BHAVYA BHUPATBHAI	B+	B+	B+	B+	P*	B	A+	A	A+	B	B+	B+	A	A	A	B+	A+	A	A	B	B+	B	A	B+	C	C	C	A	B+	A	B	B	B	141	21	6.71	21	0	Pass			
152	ET25BTCO153	GANJAWALA HARSHAL RAJESHKUMAR	B+	P	B	A	F	F	B	B+	B+	B+	F	F	A	A+	A+	B+	A+	A	O	B+	A+	B+	A	A	B	F	F	C	A	B+	B+	P*	B	99	21	4.71	14	3	Fail			
153	ET25BTCO154	GOHEL UDAY NARESHBHAI	A	A	A	B+	A	A	A+	A	A+	O	O	O	A+	O	O	A+	O	O	O	O	O	O	O	O	A	A	A	B+	B	B+	A+	A	A+	A	A	A+	184	21	8.76	21	0	Pass
154	ET25BTCO155	GOLAKIYA MANASKUMAR NARESHBHAI	F	F	F	F	F	F	F	NA	F	B	P	C	A	A+	A+	F	C	F	F	NA	F	NA	NA	F	F	F	F	NA	NA	F	P	C	C	39	21	1.86	7	8	Fail			
155	ET25BTCO156	GOSWAMI VRUNDA PRAKASHVAN	B+	P*	B	P	F	F	A+	B	A	C	F	F	A	P	B	B	B	B	A	B+	A	A	B	B+	C	F	F	B+	A+	A	B	P*	C	89	21	4.24	14	3	Fail			
156	ET25BTCO157	GOTHADIYA MASTI RAJNIKANT	A+	B	A	O	C	A	O	A	A+	A+	C	B+	A	A+	A+	O	O	O	A+	A	A+	A	B	B+	B+	P*	B	A	A+	A+	O	O	O	176	21	8.38	21	0	Pass			
157	ET25BTCO158	GOTHI JENNY HITESHBHAI	B+	B	B+	B+	C	B	A+	B	A	A	B+	A	A	A	A	A+	A	A	O	A+	O	O	A+	O	B	P	C	A	A	A	A	C	B+	156	21	7.43	21	0	Pass			
158	ET25BTCO159	GUDURU MOHITKUMAR SRINIVAS	A+	B+	A	B+	B+	B+	B+	B+	B+	A	B+	A	B+	A	A	B	A	B+	A	C	B+	A+	B	A	A	B+	A	A	B	B+	A+	C	B+	156	21	7.43	21	0	Pass			
159	ET25BTCO160	HARMIL VIRALKUMAR NAIK	B+	P*	B	B+	C	B	B+	P	B	A	A	A	A	A+	A+	B	B	B	A	B	B+	A	A+	A+	B+	C	B	A	A	A	B+	P	B	140	21	6.67	21	0	Pass			
160	ET25BTCO161	JENIL VIPULBHAI MANGUKIYA	B+	B+	B+	A	P**	B	A	A	A	B+	A+	A	O	A	A+	A	O	A+	A+	O	O	A	A	A	B	B+	B+	O	A	A+	B+	A	A	164	21	7.81	21	0	Pass			
161	ET25BTCO162	JIVANI DHARMI JITENDRABHAI	A	B+	A	A	C	B+	A+	A	A+	A	B+	A	A	B	B+	A	A+	A+	A+	B+	A	A+	A	A+	B+	C	B	O	A	A+	A	P	B	156	21	7.43	21	0	Pass			
162	ET25BTCO163	KAKADIYA FRANK RAKESHBHAI	A	C	B+	A	P*	B	O	B+	A+	B+	B+	B+	O	B	A	A	O	A+	A+	A	A+	A	B+	A	C	P	C	B+	A+	A	B	C	B	147	21	7.00	21	0	Pass			
163	ET25BTCO164	KATARIA JAINAM HITESHBHAI	B	P	C	P	F	F	A	B+	A	C	F	F	A	B+	A	B	A+	A	A	A	B+	A	A	A+	B	B	B	A	A+	A+	B	C	B	109	21	5.19	16	2	Fail			
164	ET25BTCO165	KAVYAKUMAR PATEL	A	A	A	A	C	B+	A	A	A	O	A+	O	A+	O	O	A	A	A	A+	A	A+	A+	A+	A+	A	B+	A	A	A+	A+	A+	B+	A	175	21	8.33	21	0	Pass			
165	ET25BTCO166	KEVADIYA PRACHI VINODBHAI	A	B+	A	B	P	C	O	B	A	A	B	B+	A+	B	A	B	B+	B+	O	C	A	B+	A	A	B+	P*	B	A	B+	A	A	B	B+	148	21	7.05	21	0	Pass			
166	ET25BTCO167	KHENI DEVANSHI VIPULBHAI	A	B+	A	A	B	B+	O	A	A+	A	A+	A+	O	B+	A+	A+	O	O	O	A+	O	A+	B	A	B+	P	B	A+	B	A	O	A	A+	175	21	8.33	21	0	Pass			
167	ET25BTCO168	MAN BHAVSAR	B	F	F	P	F	F	F	P	F	B+	B+	B+	A	A	A	P	C	C	B	C	B	A	A	A	B	C	B	F	A	F	C	F	F	59	21	2.81	9	5	Fail			
168	ET25BTCO169	MANSI HITESH RANE	A+	B+	A	A	B	B+	A	A	A	A	O	A+	A	A+	A+	A+	A+	A+	A+	B+	A	A	A	A	B+	B	B+	B+	B+	B+	A+	B+	A	166	21	7.90	21	0	Pass			
169	ET25BTCO170	MATHOLIYA JENSI JAYSUKHBHAI	A	B	B+	A+	P*	B+	B+	A	A	A	C	B+	A	B	B+	A	O	A+	A+	B+	A	A	A	A	C	P	C	A	B+	A	A+	B+	A	154	21	7.33	21	0	Pass			
170	ET25BTCO171	MOTISARIYA DAKSH BHARATBHAI	A	A	A	A	B	B+	B	O	A	A+	B	A	A	A	A	B	A	B+	A+	B	A	A	A	A	C	F	F	C	A	B+	A+	A+	A+	151	21	7.19	19	1	Fail			
171	ET25BTCO172	NAVADIA RITIK ASHOKBHAI	A+	B+	A	O	B	A	O	A	A+	A+	O	O	A	A	A	A	A	A	A+	A+	A+	B+	A	A	B+	B	B+	O	A	A+	A+	B+	A	174	21	8.29	21	0	Pass			

Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

for:





Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering
Winter 2025 Regular Exam Semester-I Result



Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

Print On Date: 30/Jan/2026 10:19 AM

Sr No	Enrollment No	Student Name	3			3			1			2			1			1			2			1			2			1			4			Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result
			Physics - Quantum Mechanics[BTAS21107]			Basic Electrical Engineering[BTTEL22101]			Basic Electrical Engineering Lab[BTTEL22102]			Python Programming[BTTCO22101]			Python Programming Lab[BTTCO22102]			Engineering Graphics and Design[BTME22101]			Engineering Graphics and Design Lab[BTME22102]			Electrical and Electronics Workshop[BTGN22102]			Energy & Environmental Engineering[BTCH22101]			Energy & Environmental Engineering Lab[BTCH22102]			Mathematics-I[BTAS21105]								
			CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade						
172	ET25BTCO173	PALADIYA MANSI VIPULBHAI	A+	C	B+	A+	P	B+	O	B+	A+	A	B+	A	A	A	A	B+	A+	A	A+	B+	A	A	A	A	B	B	B	A+	A	A+	A+	B	A	160	21	7.62	21	0	Pass
173	ET25BTCO174	PADSALA MANAV PARESHBHAI	P	F	F	P	F	F	B	F	F	F	F	F	F	C	F	P	F	F	A	P	B	A+	A	A+	F	F	F	F	A	F	P	NA	F	21	21	1.00	3	9	Fail
174	ET25BTCO175	PALADIYA KRISHKUMAR PRAVINBHAI	A	B+	A	A	P*	B	A	A	A	A+	B	A	O	B	A	O	O	O	A+	B+	A	B+	B+	B+	B	C	B	A+	A+	A+	A	B+	A	160	21	7.62	21	0	Pass
175	ET25BTCO176	PANDEY APOORV ANURAG	A	B+	A	A	C	B+	A	A+	A+	A+	A+	A+	A+	A+	A+	A	A	A	A+	A+	A+	A+	O	O	A	B	B+	A	P	B	A+	B	A	169	21	8.05	21	0	Pass
176	ET25BTCO177	PANSURIYA KEVALKUMAR PARESHBHAI	A	B	B+	A	C	B+	A+	B+	A	A	B+	A	A	A+	A+	A+	O	O	A+	O	O	A	A	A	B+	C	B	A	O	A+	A+	A	A+	170	21	8.10	21	0	Pass
177	ET25BTCO178	PATEL DHRUV KIRANKUMAR	O	B+	A+	B+	B+	B+	B+	A	A	A	A	A	A	A	A	A+	A+	A+	A	B	B+	A	A+	A+	B+	B+	B+	B+	A	A	O	A	A+	170	21	8.10	21	0	Pass
178	ET25BTCO179	PATEL DHYEY SACHINKUMAR	B+	P	B	C	P**	C	B+	B+	B+	A	P*	B	A	B+	A	C	P	C	A+	B	A	A+	A+	A+	C	C	C	B	A	B+	B	P*	C	127	21	6.05	21	0	Pass
179	ET25BTCO180	PATEL DIVY KETANKUMAR	A	C	B+	A+	C	B+	A	A	A	A+	A	A+	A+	O	O	A	A	A	A+	B+	A	O	O	O	B+	C	B	A+	A	A+	A+	A	A+	169	21	8.05	21	0	Pass
180	ET25BTCO181	PATEL IPSA KETANKUMAR	A	A	A	A	B	B+	A	B	B+	A	A+	A+	A+	O	O	A+	O	O	A+	A	A+	O	A	A+	A	A	A	A+	A	A+	A+	A	A+	178	21	8.48	21	0	Pass
181	ET25BTCO182	PATEL KARANKUMAR HARSHADBHAI	A	B	B+	A	C	B+	A+	A	A+	B	B+	B+	A	B	B+	B+	O	A+	B+	B+	B+	A	A	A	B+	B+	B+	A	O	A+	C	B+	B	150	21	7.14	21	0	Pass
182	ET25BTCO183	PATEL MANTHAN BHUPENDRA	B+	B	B+	C	F	F	A	A	A	B+	F	F	B+	A	A	B	O	A	A	B+	A	B+	B	B+	C	P	C	A	A	A	B	C	B	110	21	5.24	16	2	Fail
183	ET25BTCO184	PATEL PRIYANSH NILESHKUMAR	A	A	A	A	C	B+	B	B	B	A	B+	A	A	O	A+	A	A+	A+	A+	B+	A	A	O	A+	A	B+	A	B+	B	B+	A+	A	A+	169	21	8.05	21	0	Pass
184	ET25BTCO185	PATEL RIVA VIPULBHAI	O	A	A+	O	B+	A+	O	A	A+	A+	B+	A	A	A	A	A	O	A+	A+	A+	A+	A+	A	A+	A	A	A	O	B+	A+	O	A+	O	188	21	8.95	21	0	Pass
185	ET25BTCO186	PATEL VEDANTKUMAR HEMANTBHAI	B	C	B	C	F	F	A	C	B+	B+	C	B	P	A	B	C	B+	B	A+	B+	A	A	A	A	C	F	F	B	B	B	B	P*	C	99	21	4.71	16	2	Fail
186	ET25BTCO187	PATEL VISHVAM JIGNESH	B+	B+	B+	O	A	A+	A+	B+	A	A+	A	A+	A+	A+	A+	B+	O	A+	A	A	A	A+	O	O	A	P*	B	A+	A	A+	O	A+	O	179	21	8.52	21	0	Pass
187	ET25BTCO188	PATEL VISHWA MANISHKUMAR	A	B	B+	A	P*	B	A+	A+	A+	B+	B	B+	O	B+	A+	A+	O	O	A+	A	A+	B+	B	B+	B	C	B	A	A	A	B+	F	F	126	21	6.00	17	1	Fail
188	ET25BTCO189	PATEL YUG NIRAVKUMAR	B+	B	B+	A	P	B	B+	A	A	B+	B+	B+	A	A+	A+	B+	O	A+	A+	B+	A	A	O	A+	C	C	C	B+	A+	A	A	C	B+	150	21	7.14	21	0	Pass
189	ET25BTCO190	PIYUSHI SANDEEP CHORDIA	A	B+	A	A	B+	A	O	A+	O	O	A+	O	O	O	O	A+	O	O	O	O	O	O	O	O	B+	A	A	O	C	A	A+	A+	A+	188	21	8.95	21	0	Pass
190	ET25BTCO191	POLARA ASTHA HARESHBHAI	B+	B	B+	B+	P*	B	B+	B	B+	A	B	B+	A+	A+	A+	A	A+	A+	O	A+	O	A	A	A	C	C	C	B	A	B+	A	B+	A	155	21	7.38	21	0	Pass
191	ET25BTCO192	PONKIYA HARVI ALPESHBHAI	A	C	B+	B+	C	B	A	B+	A	A	B	B+	A	A	A	A	O	A+	O	C	A	O	A	A+	B+	B	B+	A	B+	A	A+	B+	A	157	21	7.48	21	0	Pass
192	ET25BTCO193	PUMBHADIYA DEVANSHI HARESHBHAI	A+	A	A+	A	B	B+	O	B+	A+	A+	B+	A	A	A+	A+	A+	A+	A+	O	A	A+	A+	O	O	B+	B	B+	A	A+	A+	A	B+	A	174	21	8.29	21	0	Pass
193	ET25BTCO194	RAKHOLIYA HASTI RAJNIKANT	B+	C	B	B+	P*	B	A	A	A	B+	C	B	A	B+	A	A	O	A+	A+	B+	A	B+	P	B	C	P*	C	B+	B+	B+	A	B	B+	140	21	6.67	21	0	Pass
194	ET25BTCO195	RATHOD SHRUTI RAMESHBHAI	A+	A+	A+	A+	B+	A	A	A	A	A	A+	A+	A	A+	A+	A+	O	O	O	A+	O	O	O	O	A	B+	A	A+	A	A+	O	A+	O	191	21	9.10	21	0	Pass

Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

for.





Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering
Winter 2025 Regular Exam Semester-I Result



Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

Print On Date: 30/Jan/2026 10:19 AM

Sr No	Enrollment No	Student Name	3			3			1			2			1			2			1			2			1			4			Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result			
			Physics - Quantum Mechanics[BTAS21107]			Basic Electrical Engineering[BTEL22101]			Basic Electrical Engineering Lab[BTEL22102]			Python Programming[BTMO22101]			Python Programming Lab[BTMO22102]			Engineering Graphics and Design[BTME22101]			Engineering Graphics and Design Lab[BTME22102]			Electrical and Electronics Workshop[BTGN22102]			Energy & Environmental Engineering[BTCH22101]			Energy & Environmental Engineering Lab[BTCH22102]									Mathematics-I[BTAS21105]		
			CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade	CCE	SEE	Course Grade							CCE	SEE	Course Grade
195	ET25BTCO196	RATHOD VRAJESH LALJIBHAI	A	P	B	B+	F	F	O	A+	O	A	F	F	A	B	B+	A	A	A	A	A	A	A	B	B+	C	F	F	B+	B+	B+	A	B	B+	101	21	4.81	14	3	Fail
196	ET25BTCO197	RAY PRIYANSHI SUNILRAY	B+	C	B	B	P*	C	O	A	A+	A	B+	A	A	A	A	B+	O	A+	A+	A	A+	B+	B+	B+	B+	P*	B	A	A	A	A+	B	A	152	21	7.24	21	0	Pass
197	ET25BTCO198	SANGANI HARSH PANKAJBHAI	B	B	B	A	C	B+	A	A+	A+	B	C	B	O	A+	O	B+	O	A+	A+	B	A	A+	B+	A	P	C	C	A	A	A	B+	B	B+	149	21	7.10	21	0	Pass
198	ET25BTCO199	SANVI DARJI	A+	A	A+	A+	A+	A+	A+	A+	A+	A+	O	O	O	O	O	A	O	A+	A	B+	A	A+	A	A+	B+	A	A	A+	A	A+	A+	O	O	192	21	9.14	21	0	Pass
199	ET25BTCO200	SAVALIYA KENISH VIPULBHAI	B	C	B	B+	P*	B	A	A	A	A	P*	B	A+	A	A+	B	A+	A	A	B+	A	A	A	A	C	B	B	A	B+	A	C	B	B	141	21	6.71	21	0	Pass
200	ET25BTCO201	SHAIKH AAMIRA ABDUL WAHAB	A+	A	A+	A+	B	A	A+	B+	A	A	A	A	A+	O	O	A+	A+	A+	O	B+	A+	A	O	A+	A	B	B+	A+	B	A	B	B	B	167	21	7.95	21	0	Pass
201	ET25BTCO202	SOLANKI JAHANVI RAJESHBHAI	B+	F	F	P	F	F	A+	B	A	B	F	F	A	C	B+	B+	O	A+	A+	B+	A	A+	B	A	P	F	F	A	A	A	B+	P	B	80	21	3.81	11	4	Fail
202	ET25BTCO203	SUDANI PARI BHADRESHKUMAR	A+	B+	A	A+	B	A	A	A	A	A	A+	A+	O	O	O	A	O	A+	A	O	A+	O	O	O	A	B	B+	A+	A+	A+	A+	B	A	176	21	8.38	21	0	Pass
203	ET25BTCO204	SUTARIYA DAKSH GHANSHYAMBHAI	B	C	B	B	F	F	A+	C	B+	B+	B	B+	A	A+	A+	B	A	B+	A+	B+	A	B+	B	B+	P	B	C	B+	F	F	C	C	C	108	21	5.14	17	2	Fail
204	ET25BTCO205	SUTARIYA HIREN HARIKRUSHNABHAI	B+	B+	B+	P	C	C	B	B+	B+	A	P*	B	A	A	A	B+	O	A+	A+	A	A+	A	A	A	P	B+	B	B	A+	A	B+	B+	B+	146	21	6.95	21	0	Pass
205	ET25BTCO206	TIDKE ANUSHKA SHAILESHBHAI	B+	B	B+	B+	C	B	A+	A	A+	A	B	B+	A	A+	A+	A	B	B+	A+	A	A+	A+	A+	A+	B+	C	B	A	C	B+	O	A+	O	164	21	7.81	21	0	Pass
206	ET25BTCO207	UNAGAR VATSAL CHETANBHAI	A	C	B+	B	P*	C	O	B+	A+	A	P**	B	O	B	A	A	A	A	O	A+	O	A	A+	A+	B	P*	C	A+	A	A+	B+	B	B+	149	21	7.10	21	0	Pass
207	ET25BTCO208	VADI MAYANKKUMAR DIPAKKUMAR	B+	B+	B+	B	C	B	O	A	A+	A	A+	A+	O	A+	O	B	A+	A	A+	A	A+	A	A	A	B+	C	B	B+	A	A	A	A	A+	166	21	7.90	21	0	Pass
208	ET25BTCO209	VAGHASIYA ZEEL RAJESHBHAI	A	B	B+	A+	B	A	O	A	A+	A	A+	A+	O	A	A+	A	O	A+	A+	B+	A	B+	B+	B+	B	C	B	O	B+	A+	A	A	A	166	21	7.90	21	0	Pass
209	ET25BTCO210	VALA UNNATI VALJIBHAI	A	B+	A	B	C	B	O	B+	A+	A	P	B	O	A	A+	A	O	A+	A	B	B+	A	B+	A	B+	C	B	A	A+	A+	A	C	B+	152	21	7.24	21	0	Pass
210	ET25BTCO211	VIRADIYA ISHANT BHAVESHBHAI	B+	P	B	B+	P**	B	O	A	A+	B	C	B	A	B	B+	B+	B+	B+	A	B+	A	A	B	B+	C	P	C	A+	C	B+	A+	B+	A	143	21	6.81	21	0	Pass
211	ET25BTCO212	WASEEMA KUTBUDDIN PATEL	B+	B	B+	A	P**	B	B+	A	A	A	A+	A+	A+	O	O	B+	A+	A	A	B	B+	A+	O	O	B+	C	B	A	A	A	A+	B+	A	159	21	7.57	21	0	Pass

Notification : SU/EXAM/ResultNotification/W2025Reg_30012026-003

NOTE: 1) Kindly refer detailed guidelines for Rechecking/Reassessment process. 2) This regular exam result may be affected due to Re-Assessment later. Final result will be declared after reassessment. 3) * Grace 1 has been applied.4) ** Grace 2 has been applied.

for:
Prepared by & Checked by,
Dr. Dhruvi Sharma
SU Exam OSD/Assessment Coordinator

Verified by,
Mr. Nimesh Desai,
SU-Exam Section

Dr. Hiren H. Patel
Dean/Principal
SCET, Sarvajanik University

Dr. Nilesh Pandya
Controller of Examination,
Sarvajanik University

